XIII. _Stoichiometry (Chapter 10)
2Na + Cl, ---> 2NaCl

1. Calculate the number of moles of NaCl produced from:
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2. How many moles of NaCl can be produced from
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3. How many grams of NaCl can be produced from
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4. If 128 grams Na and 155 grams Cl, are mixed and allowed to react, how many grams of NaCl
would be produced? Rue st and clhane uedleat \aluwe — SU-S# like 22 %3b
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5. CHy + 20; > CO; + 2H,O + 803 kJ

a) Calculate the number of kilojoules of energy released when 1.102 x 10° grams of oxygen
react. @ Op — WtesOr —= KT
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b) How many grams of water would be produced if the above reaction results in the release
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c) Calculate the number of calories released from the reaction of 605 grams of methane,
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6. 2NH; + 5F; -~> NoF4; + 6HF
a) The reaction of 17.3 grams of F, in the above reaction resulted in the collection of 4.55
grams of NoF4. What was the % yield in this reaction? % dcl G-CL'AC\—\ - O
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b) If the above reaction runs in 63.8% yield, how many grams of - -
HF could be collected from the reaction of 547 grams NH;? %‘U‘\g_‘? m\d&&? > Wie B —”3 L“—
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7. Solution Stoichiometry. Mg(s) + 2HNO;(aq) ---> Mg(NOs),(aq) + Hy(g)

a) Calculate the number of mL of 4.23M HNOs needed to prepare 117 grams of Mg(NO;),
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b) How many grams of Mg are required to react with 28.4 mL of .645M HNO3?
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